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«Gtatistical Physics” Spring 2004

Quiz 5 (5 points) 20 February 2004

Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

Consider a glass in which all of atoms may occupy one of two sites in the unit cell. These two
positions give rise 1o two energy levels, one with energy A and the other with energy —A. Calculate
the contribution of this arrangement to the heat capacity of the solid. In the limit that A < kgT,
what is the approximate temperature dependence? Are there any additional contributions to the
heat capacity? If yes, name the dominate one. As we discussed in class, what is the next natural

step toward improving this model of glasses? Cv{};—i \, > ueed U !
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